Exit Ticket Z1 - Single Events

Correct Answer: ABCD
AQAH ¥
Explanation:
A spinner has 5 equal sectors numbered 1 to 5
Whatis the probability of the spinner landing on an even number?
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Correct Answer: ABCD
AQAY P
Explanation:
The probability that James plays football on Saturdayis 0.72 | sesssessssassssssasasassnsasaraasa s naasa sttt tanan sttt anaannnnnnnns
Whatis the probability that James does not play football on
Sawrday? ] e
A 5 c o | e
0.5 0.72 0.38 0.28
Correct Answer: ABCD
AQAT ¥
Explanation:
Here are some outcomes for rolling a dice.
P: [olling anevennumber ' aaasssaasssaE s s EEE s R EE RN NI EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEESEEEEEEEEEE®
Q: rolling a number less than 5
Rorolinga6 | e
S: rolling a number greater than 3
Which two outcomes cannot happen at the same time?
A 8 c D | e
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